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[Organic Chemistry: Basic]

Answer problems (1) through (4).

ey
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(a) Look down the C(2)-C(3} bond of 1, and draw the Newman projections for all the staggered -
conformations of 2-bromobutane (1).
C(3)

c2)

B
1 B

(b) Draw the two enantiomers of 1,and name them according to the RS convention.

'(c) Show the main product of the reaction of (R)-1 with sodium cyanide. Show the reaction mechanism

using the curved arrow formalism, and show the structure of the transition state. Also indicate the
stereochemistry of the product.

(d) List the following compounds in the increasing order of acidity:
CFaCOOH , CH;COOH, CH;CH0H, CICH,COOH

(e) List the following compounds in the increasing order of basicity:

O NHg/ll\lLl-lNHz @ @

N 1 H
H

() List the following compounds in the increasing order of the boiling point:

n-pentane, 2,2-dimethylpropane, pentanoic acid, pentanal, pentan-1-ol

Predict the main products 2-7 for the following bromination reactions (g)-(1). If applicable, indicate

the stereochemistry of each product,
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(4)  Show the reaction mechanism using the curved arrow formalism for the reactions (m} and (n).
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Organic Chemistry: Basic

Problem (4)-(n), on top of the arrow
[Incorrect]  LiN[CH(CH3)2]
[Correct] LiN[CH(CH:):]»



